FY |2HAeLR DI ik HE 1
1 |#TRKAL 4810100-0004-098 1
2 KBEALR 4915401-0003-002  |GB/T 96.1-2002 12 4
3 |ETHAR 4810300-0002-098 1
4 |RIERET SR 4323100-0001-000 1
5 |ATEEE 4512400-0001-098 1
6 |EEEHATEA 4633000-0001-088 2
7 |REETEAA 4632000-0001-088 1
8 |ATHIZNERE 4435100-0001-098 2
9 |BTARIEIERESM 4435300-0001-098 1
10 |AIRLEA 4421200-0006-000 1
11 |ANEER=EBERAT/NRS 4915202-0005-002  |GB/T 16674.2-2016 M12*1.25*80 4
12 |REE=EER/NRS 4915201-0014-002  |GB/T 16674.1-2016 M8*70 2
13 |RAEE=EER/NRS 4915201-0001-002  |GB/T 16674.1-2016 M6*16 2
14 |RNEE=ZEBERAT/NRS 4915202-0004-002  |GB/T 16674.2-2016 M12*1.25%65 2
15 |REBRESRE 4236000-0002-098 1
16 |KEEAR 4915401-0002-002  |GB/T 96.1-2002 8 2
17 |BEBHHALHK 4234000-0002-098 1
18 |IN6% 4332300-0002-000 1
19 |FEZRBA 4411000-0019-098 1

20 |HIZVAIAT AL 4437000-0001-002 2
21 |BTEREELT 4323200-0001-000 1
22 |AHIEXE 4823400-0003-098 1
23 |REHIIEZR 4231001-0001-098 2
24 |[RELISA 4231000-0001-015 1
25 |HEFM 4641801-0001-098 1
26 |HEFWIUR 4642600-0002-000 1
27 | EMBEXE 4823200-0003-098 1
28 |BIERINFRE 4324202-0001-002 1
29 |EHIzhEIAIE 4436002-0001-002 1
30 |EHIEER 4436001-0001-098 1
31 |HIEhHAT Sk 4437000-0009-002 1
32 |RALBREEL 4915205-0003-002  |GB/T 5783-2016 M10*25 4
33 | FREAL 4915402-0002-002  |GB/T 97.1-2002 10 4
34 |tREREE 4915406-0001-011  |GB/T 93-1987 4
35 [2EEERAAZEZENREE 4915302-0002-002  |GB/T 6187.1-2016 M8 2
36 | ANAFREEREMATATIBR 4915305-0002-002  |GB/T 9459-1988 M14*1.5 2
37 |BEIRRE 4914205-0002-002  |40*14*3 2
38 |[HERS 4914203-0001-005 8
39 [RELERAAZEZEMNRBIMT 4915303-0001-002  |GB/T 6187.2-2016 M12*1.25 10
40 |ANEEZEERAT/NES] 4915202-0002-002  |GB/T 16674.2-2016 M10*1.25*50 4
41 2R ERAAEZEPEZESMAT 4915303-0002-002  |GB/T 6187.2-2016 M10*1.25 4
42 |RBEZEERAT/NES) 4915202-0001-002  |GB/T 16674.2-2016 M10*1.25*70 4
43 |FOH 4915102-0001-002  |GB/T 91-2000 3*30 3
44 |FOH 4915102-0002-002  |GB/T 91-2000 2.5*30 3
45 | KRBBEALK 4915401-0004-002  |GB/T 96.1-2002 14 3
46 | FREAL 4915402-0001-002  |GB/T 97.1-2002 8 3
47 | 2BARAZEZEES 4915301-0002-002  |GB/T 6177.1-2016 M6 4
48 |HIAEMRE 1902602-0012-008 2
49  |EBRE 1902313-0003-002 2
50 |BTHERRS 4511000-0001-098 2
51 |ETEREE 4512100-0001-098 1
52 |ERETSAM 4631000-0001-088 1
53 |BTERIHGRESA 4435200-0001-098 1
54 |RTERSA 4421100-0006-000 1
55 |[BAEFE 4916106-0001-000 2
56 | ANAEZEBR/NZRS 4915201-0007-002  |GB/T 16674.1-2016 M8*20 25
57 [2BAAE=ZEES 4915301-0003-002  |GB/T 6177.1-2016 M8 36
58 | ANEEZEBR/NZRS 4915201-0003-002  |GB/T 16674.1-2016 M6*25 5
59 | RBEAL 4915401-0001-002  |GB/T 96.1-2002 6 5
60 |ERMTERES 4332702-0001-000 1
61 |FEEBEREO 4332703-0001-000 1
62 |ZERE4KERER 4332704-0001-000 1
63 |B&R 4342002-0001-000 2
64 |BEEHEHRES 4331400-0001-000 1
65 |REHNETIR 4234001-0002-098 1
66 |NASKIEREIRL 4915204-0002-002  |GB/T 5783-2016 M10x45 4
67 |ANAEZEER/NR5 4915201-0017-002  |GB/T 16674.1-2016 M8x80 2
68 | 2BRAFIAZEHIES 4915401-0003-002  |GB/T 6177.1-2016 M8 2
69 |BHMRBEH 4332400-0002-000 1
70 |[BHREEH=E 4332705-0001-000 1




FS |ZHeLR ZHART but 3 ¥ #x
1 BIRATE 4824100-0001-097 1
2 BTHRAT 50 4321000-0001-000 1
3 +FHERSL B RIRET 1902205-0016-002  |GB/T 845-2017 ST4.2*16 16
4 Rl R IP R 4821200-0001-000 1
5 | BIEMNR 4821000-0001-013 1
6 EOESEEREL TRl 4821400-0001-097 1
7| HEEENE 4825005-0002-097 1
8 SMFEE RIS 4825004-0002-097 1
9 ZHRRAR 4823100-0001-097 1
10 | AHEER 4823300-0001-097 1
11 | EHEER 4822000-0002-013 1
12 | BEEERPR 4822400-0002-097 1
13 | BEHERFR 4822200-0002-097 1
14 |RE 4916105-0001-000 1
15 | MEEHE 4825013-0001-098 1
16 | EERRIEERMSR 4822001-0001-098 1
17 | mERFSE 4825006-0001-097 1
18 | EERERMF 4826100-0001-097 1
19 | BIERER T FHR 4821202-0001-097 1

20 | BIAIER FPR 4821402-0001-097 1
21 | EREBEREIEE 4332601-0001-000 1
22 | RFFRH 4333300-0001-000 1
23 | TFHERELIRET 4915204-0001-002  |GB/T 973-1976 M6*16 62
24 | KBE AL 4915401-0001-002  |GB/T 96.1-2002 6 66
25 | BRERE 4916109-0001-000 62
26 [ 2BARAE=EHIRE 4915301-0002-002  |GB/T 6177.1-2016 M6 62
27 | RAEZHER MR 4915201-0001-002  |GB/T 16674.1-2016 M6*16 5
28 | NEEZHERER MR 4915201-0007-002  |GB/T 16674.1-2016 M8*20 12
29 | 2BARAZ=EES 4915301-0003-002  |GB/T 6177.1-2016 M8 17
30 | NEEZEBRRE DRI 4915201-0004-002  |GB/T 16674.1-2016 M6*30 2
31 | BRBE CR 4915403-0001-002  |GB/T 5287-2002 6 2




5= ML ZHART but 3 ¥ #x
IO EEVRR 3 4825010-0001-000 1
2 (PR RRT 4825012-0001-001 6
3 | SR 4826300-0004-097 1
4 [T AT 4810501-0001-098 1
5 | RN ST 4810502-0002-098 1
6 |MEBHIBSCHT 4810502-0001-098 1
T | BRI AT 4810503-0002-098 1
8 | MBI AT 4810503-0001-098 1
9 |FUHE AL 4332501-0001-000 1
10 | 4332502-0001-098 1
11 [JEERH AR 4825008-0001-097 1
12 |JE RSk 4325000-0002-097 1
13 [t 4916105-0004-000 2
14 [A7S A SR RRET 4915207-0001-002  |GB/T70. 1-2008 M8*25 8
15 [N AR RE 4915307-0001-002  |GB/T 923-2009 M8 8
16 [N IRE DR 4915201-0004-002  |GB/T 16674. 1-2016 M6%30 6
17 | K A% 4915401-0001-002  [GB/T 96.1-2002 6 6
18 [P 4916109-0001-000 6
19 | 28475 ik 2 TR RE 4915301-0003-002  |GB/T 6177.1-2016 M6 6
20 [/SFASkIRAE AMRAL 4915205-0003-002  |GB/T 5783-2016 M10%25 1
21 [P A% 4915402-0002-002  [GB/T 97.1-2002 10 1
22 [k B SRS 4915203-0001-002  |GB/T 845-2017 ST4. 2%16 12
23 |NAVEEEIER DR 4915201-0007-002  |GB/T 16674. 1-2016 M820 16
24 [2BU7N AR TR BE 4915301-0003-002  |GB/T 6177.1-2016 M8 10
25 |NAVEEIER RS 4915201-0008-002  |GB/T 16674. 1-2016 M8*25 2
26 |t 4916104-0003-000 2
27 | 4916108-0002-000 4
28 |l AR S5 4823501-0001-098 1
29 | B AR 4823500-0001-098 1
30 W 4826202-0001-007 4
31 | bR A 4915406-0001-011  [GB/T 93-1987 8
32 |PHE AZ 4915402-0002-002  [GB/T 97.1-2002 10 8
33 |NAEkIREE AR 4915205-0003-002  [GB/T 5783-2016 M10%25 6
34 [FSHSkiBAE 4915204-0002-002  |GB/T 5782-2016 M10%170 4
35 |1 MR EE 4915307-0001-002  [GB/T 6170-2015 M10 4
36 | FIBIES AR S AR 4823501-0002-098 1
37 | EIMIESHR 4823500-0002-098 1
38 [FNAVEATIEME RS 4915201-0007-002  |GB/T 16674. 1-2016 M8+20 2
39 (274G N A 2L B SRR B 4915302-0002-002  |GB/T 6187.1-2016 M8 2
40 |HREE) I E TR 4810700-0001-098 1
41 | 4826200-0002-097 2
42 | BRI AR 4826201-0001-098 1
43 |E RS AR 4826201-0002-098 1
44 KA AZ 4915401-0001-002  [GB/T 96.1-2002 6 12




s AER 7

Y HMEH 2R mWID g HE X
1 |Hdieg 4341101-0002-098 1
2 |BHIMbE 4341000-0002-000 6
3 |k 4916105-0005-000 1
4 | FHIBGEE R 4341102-0002-098 2
5 27BN TR RE 4915301-0003-002  |GB/T 6177.1-2016 M8 6
6 [HHLERK 4240000-0001-000 1
7 RV R 4522003-0003-002 3
8 AU 4522003-0002-002 1
9 |JEHIBIFR 4333400-0001-000 1
10 [Jef% K 4422200-0006-000 1
11 | JEARAR 3 R AR 4522002-0002-002 1
12 |JE AR AR 4522002-0002-002 1
13 |JEER SR 4422100-0006-000 1
14 |JEHF SR 4222000-0006-098 1
15 |l IRas 4311100-0001-000 1
16 |JE R 4522000-0002-098 2
17 | JEANAR S i 4522001-0001-002 4
18 k& 4916104-0002-000 12
19 [N FLIZ A 4915206-0001-002  [GB/T 31.1-2013 6
20 IR 4915102-0001-002  [GB/T 91-2000 3%30 6
21 | 28N A TP REIR REARIBZR 4915304-0001-002  |GB/T 6180-1986 M12 6
22 [PAEALL 4915402-0002-002  [GB/T 97.1-2002 10 8
23 | bk R B 4915406-0002-011  |GB/T 93-1987 10 8
24 |1BIN FIB ) 4915307-0001-002  [GB/T 6170-2015 M10 16
25 | HIMLEL BB R 4240001-0001-098 1
26 |NFAVEETHEIER N R 4915201-0007-002  |GB/T 16674. 1-2016 M8X 20 10
27 |HB I RGBS 4342004-0001-000 1
28 | PEdgE 4332701-0001-000 1
29 [ASMFETIREREAN A N R 4915202-0002-002  |GB/T 16674.2-2016 M12X1.25X50 4
30 |28 AN F i A TH B SR B 4915403-0001-002  |GB/T 6187.2-2016 M12X1.25 4

S
£
‘:{.
. N m:‘—;’" 5
& ) /‘
@« .
. d;‘

FE BEZIR BEAHD ks HE X
1| R 4711000-0019-013 1
2 |RITEK 4322000-0003-000 2
3 | 4916107-0001-000 6
4 |Gk 4916108-0001-000 8
5 |NFREZTHIRE MRS 4915201-0004-002 8
6 | 2B NI A TR B 4915301-0002-002  [GB/T 6177.1-2016 M6 8




R o)

B9 |2H6EH% 2R mWID ik HE X
1| 4915001-0001-000 GB/T276, 6202-2RS 2
2 |7 kR R 4612004-0001-098 1
3 | JF AR R 4612000-0001-098 1
4 |JrmkE R 4612003-0001-001 1
5 |k R 4612002-0001-001 1
6 |k TR 4612001-0001-001 2
7 |HAkERT 4916116-0001-000 2
8 | Ty kR T R 4916111-0001-000 2
9 |JrmAEE R 4611002-0001-000 1
10 |[FEE 4611000-0002-098 1
11 | HAieR7 4611001-0001-000 2
12 |ArdEhi R 4642100-0001-098 1
13 [Tk B SURET 1902205-0016-002  |GB/T 845-2017 ST4. 216 4
14 |fERSg 4311001-0003-098 1
15 |YAEEE\HO. 75x; 4333201-0001-000 1
16 [ R TF R R 4333200-0001-000 1
17 |fGERTE 4825007-0002-098 1
18 [XER4E 4311001-0004-098 1
19 [BEREAR 4311000-0003-000 1
20 |NAVEEEIER DRI 4915201-0001-002  [GB/T 16674. 1-2016 M6*16 4
21 WS JEEL 4342003-0001-000 1
22 [THER 4916103-0001-000 1
23 |75 BT IR AR 4333100-0001-000 1
24 TR 4641100-0002-098 1
25 TSR 4641700-0001-001 1
26 |RLEEAL 4342000-0008-000 1
27 |2 4642500-0003-098 1
28 (27N AR TR BE 4915301-0002-002  |GB/T 6177.1-2016 M6 2
29 [ASMEZEIIER MRS 4915201-0016-002  |GB/T 16674. 1-2016 M8*60 4
30 |AAEIF R R 4333200-0002-000 1
31 28U TR R 4915301-0001-002  |GB/T 6177.1-2016 M5 3
32 [PNANEZHIRE NRSY 4915201-0002-002  [GB/T 16674.1-2016 M6%20 5
33 |FFIA 4915102-0002-002  |GB/T 91-2000 2. 5%30 1
34 [INAskiER 4915204-0001-002  |GB/T 5782-2016 M8*60 2




